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TU IV

CC302/CE302 ROING. ¢ coeevvreerrrnresnesens

Spl. 2017
DESIGN OF STEEL STRUCTURE

fauifa auw ; dTw?) (it 3w : 70

Time allowed : Three Hours] [Maximum Marks : 70

A () VIHIE ST &, I 7 G fE va & I g

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) Jod9% F99 & GHT 4T FI FHEW UF G & Fard |
Solve all parts of a question consecutively together.
(iii) N9 F77 &1 74 98 & IR Hd |
Start each question on fresh page.
(iv) @ eIt § 3= g17 &1 fRfa § HA 3qaR # A= 8 |

Only English version is valid in case of difference in both the languages.

Hira # Iar difv
Answer briefly :
() W IAcS A U3 HIRTE T THT |
Explain throat thickness in butt weld.
(i) IHld uIieh Y AR )
Define shape factor.
(iii) ®ee argat | fore =) augmg |
Explain pitch in the bolted structure.
(iv) 9T deyl o T Gee o i §HHST |
Explain partial safety factor for loads.
(v) T A | aiee

Bolts in double shear. (2x5)
(1 of 4) P.T.O.
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2.

(i) 9 % Wi IR I TMiTha o7 T3 |
Draw a labelled diagram of a slab base of a column.
(i) T T TS 1 ARG o 99T |
Draw a labelled sketch of a plate girder. (6+6)

(i) TEUTE HTEAIS & A T w1 |l § wHEET |

Explain in brief the advantages and disadvantages of steel structures.
(i) wEd i 1 SR & STfirme #1 ggar 9o HR |
Describe steps of designing lacing for a built-up column. (6+6)

oz o feme e T Ve % g IRl Tonie s Sl )

Determine shape factor for the ‘T’ section shown in sketch.
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All dimensions are in mm. (12)

ISLB 350@ 486 N/m &) Siirseds s qTHed A HiY, o H areda: Jgm fean @ |
SiRrEeT T & V 1 A ST Hida wmied 8 w0 2 | T 1 3 Fe 410 W1fAT |

Determine the design bending strength of ISLB 350@ 486 N/m, considering the beam
to be laterally supported. The design shear force V is less than the design shear
strength. Assume steel of grade Fe 410. (12)
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6.

Teh d91d T4 0.95 m &1 8, T 20 kN %1 SIS 3196l YR 9 60 kN FT FRIHH I
WR 981 @1 & | T N6 SEH1 & JEATHR G- &1 IR T 02 Fe 410
ST | 31999 1 TF ARA A 4.6 VS & 16 mm Siee AT |

A tension member 0.95 m long to resist a working dead load of 20 kN and working
live load of 60 kN. Design a rectangular bar of standard structural steel of grade Fe
410. Member is connected by one line of 16 mm diameter bolt of grade 4.6. (12)

1050 kN % TREYR & R v @ 1 aAfirepeas s | @y it et o 20w ©
7mﬁﬂ1ya¢mﬁ15m%mc4loﬁ3@amﬁsﬁﬁm

Design a column to support a factored load of 1050 kN. The column has an effective
length of 7.0 m with respect to z-axis and 5 m with respect to y-axis. Use steel of grade
Fe 410. (12)

(1) U i e &1 Aifea fag s |

Draw a labelled sketch of a plate girder.
(i) Ae2T el & wry qen =l frfgu |

Write advantages and disadvantages of welded joints. (6+6)
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